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Physics and Astronomy Department
College of Sciences-King Saud University
Phys 104, Final Exam, First Semester 4/12/1426 H
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k=9x10° N.m’/C?, £,=8.85x 10" C/N. m’,|e| = 1.6 x 107 C G=6.67 x 10" N.m’/kg’
m,=1.67x 107 kg, m,=9.11x 10> kg, g=98m/s’,  u,=4nx 107 T.m/A

Q1- What is the electric force acting on the charge ¢g; due to the two charges, g; and ¢, ifa =1 km, b =2 km, and
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Q2- What is the distance (x) at which the electric field equals zero?
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Q3- The electric flux through the surface S; is:
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Q4- An electric charge of — 1 C is distributed uniformly on a long wire of 20 km. What is the electric force due to
the charged wire on a point charge of 1 x#C located 3 m away from the wire?
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Q5- What is the electric potential at the point a due to ¢; and ¢, ?
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Q6- If an electron gains a kinetic energy of 32x 10™° J when passing from A to B, what is the voltage across the battery (V)?
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Q7- If the plate area of a parallel-plate capacitor of 3 uF is 40 cm?, what is the distance between its plates (d)?
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Q8- The mathematical expiration of the voltage difference between two points a and b as a function of the electric
field E and the displacement 7 is:
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Q9- The equivalent capacitance Cq of the capacitors between a and b equals:
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Q10- If the voltage across a capacitor V,,, having a stored energy U,, increases to V =2V, then the stored energy U
will become:
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